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QUESTION 1

You have a Linux compute instance located in a public subnet in a VCN which hosts a web application. The security list
attached to subnet containing the compute instance has the following stateful ingress rule.

_! | Stateless + | Source | IP Protocol | Source Port Range | Destination Port Range
I No 0.0.0.0/0 TCP All 22

The Route table attached to the Public subnet is shown below. You can establish an SSH connection into the compute
instance from the internet. However, you are not able to connect to the web server using your web browser.

L] |Destination a | Target Type
1 0.00.0/0 Internet Gateway

Which step will resolve the issue? (Choose the best answer.)

A. In the route table, add a rule for your default traffic to be routed to NAT gateway.

B. In the security list, add an ingress rule for port 80 (http).

C. In the security list, remove the ssh rule.

D. In the route table, add a rule for your default traffic to be routed to service gateway.

Correct Answer: D

QUESTION 2
You have been contracted by a local e-commerce company to assist with enhancing their online shopping application.
The application is currently deployed in a single Oracle Cloud Infrastructure (OCI) region. The application utilizes a

public load balancer, application servers in a private subnet, and a database in a separate, private subnet.

The company would like to deploy another set of similar infrastructure in a different OCI region that will act as standby
site. In the event of a failure at the primary site, all customers should be routed to the failover site automatically.

After deploying the additional infrastructure within the second region, how should you configure automated failover
requirements? (Choose the best answer.)

A. Create a load balancer policy in the Traffic Management service. Configure one answer for each site. Set the answer
for the primary site with a weight of 10 and the answer for the secondary site with a weight of 100.

B. Create a new A record in DNS that points to the public load balancer at the secondary site. Create a CNAME for the
sub-domain failover that will resolve to the new A record. Inform customers to prepend the website URL with failover if
the primary site is unavailable.

C. Create a failover policy in the Traffic Management service. Set the IP address of the public load balancer for the
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primary site in answer pool 1. Set the IP address of the public load balancer for the secondary site in answer pool 2.
Define a health check to monitor both sites.

D. Deploy a new load balancer in the primary region. Create one backend set for the primary application servers and a
second backend set for the standby application servers. Create a listener for the primary backend set with a timeout of 3
minutes. Create a listener for the secondary backend set with a timeout of 10 minutes.

Correct Answer: D

QUESTION 3

A developer has created a file system in Oracle Cloud Infrastructure (OCI) File Storage service. She launches an Oracle
Linux compute instance and successfully mounts the file system from the instance.

She then tries writing to the file system from the compute instance using the following command:

touch /mnt/yourmountpoint/helloworld

But gets an error message:

touch: cannot touch ‘/mnt/yourmountpoint/helloworrld’: Permission denied

Which is a reason for this error? (Choose the best answer.)

A. ‘touch’ command is not available in Oracle Linux by default.

B. Service limits or quota for file system writes have been breached.

C. User is not part of any OCI Identity and Access Management group with write permissions to File Storage service.
D. User is connecting as the default Oracle Linux user ‘opc’ instead of ‘root’ user.

Correct Answer: C

Reference: https://itectec.com/unixlinux/touch-cannot-touch-test-permission-denied/

QUESTION 4

Your application is using an Object Storage bucket named app-data in the namespace vision, to store both persistent
and temporary data. Every week all the temporary data should be deleted to limit the storage consumption.

Currently you need to navigate to the Object Storage page using the web console, select the appropriate bucket to view
all the objects and delete the temporary ones.

To simplify the task you have configured the application to save all the temporary data with /temp prefix. You have also
decided to use the Command Line Interface (CLI) to perform this operation.

What is the command you should use to speed up the data cleanup? (Choose the best answer.)

A. oci os object delete —ns vision —bn app—data —prefix /temp
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B. oci os object bulk-delete —ns vision —bn app—data —prefix /temp —force
C. oci objectstorage bulk—delete —ns vision —bn app—data —prefix /temp —force
D. oci os object delete app-data in vision where prefix = temp

Correct Answer: B

QUESTION 5

Recently, your e-commerce web application has been receiving significantly more traffic than usual. Users are reporting
they often encounter a 503 Service Error when trying to access your site. Sometimes the site is very slow.

You check your instance pool configuration to confirm that the maximum number of instances is configured to allow 20
compute instances. Currently, 14 compute instances have been provisioned by the instance pool. You also confirm that
current CPU utilization across all hosts exceeds the scale-out threshold you set in your auto-scaling policy. However,
the instance pool is not provisioning any new instances.

What can you check to determine why the application is NOT functioning properly? (Choose the best answer.)

A. Verify that the new offer feature code did not introduce any performance bugs.

B. Verify that the database is accessible.

C. Verify that the compute resource quota has not been exceeded.

D. Verify that the Quality Assurance team is not currently performing load-testing against production.

Correct Answer: C
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